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RIT1 = le/(le=2¢*(RIT/RCI*¥(RIT/RC))
RIT2 = (2+*(RC=RO)*RIT*RIT)/(RC*RC*RC)
RIT3 = DELTA/(4e*HC)=A2¥HC*HC

RIT4 = RITI*(RIT3-RIT2)

RITS5 = ABS(RIT4=A3)

IF(ABS(RITS5/RIT4)-0401)25925922
A3 = 0e25%(3e*A3+RIT4H)

GO TO 12

PC = (RC*RING)*(A1*¥RC*¥RC+A3)
ALPHT = (52e/36)%A1%A1

HAMT = 12.%A1*AD+0*¥A2%A2+16e*%A1%A]
BETT = (4e/3¢) % (HAMTH*HC*¥HC+12e*A1%A3)
BETTP = (8e/3e¢)* (HAMT*HC)

GAMT = 4L o%*(3e*¥A2¥HCHHCH+AZ ) * (3o ¥A2¥HCH¥HC+A3)

GAMTP = 4B *A2%( 34 *A2¥HC¥HC+A3) *HC

RT = RC

RIT3 = A1*RT*RT

RITG4 = 3¢*%A2*¥HT*HT+A3
RIT1 = RO+(RIT34RIT4)*RT
RIT2 = ABS(RIT1=RT)

IF(RIT2-04001)35535,31
RT = 0e25%(3e%RT+RIT1)

GO TO 30

RIT3 = =2¢%A2%HT*HT

RITL4 = 44%A1*¥RT*RT+24%*A3
RIT1 = HO+(RIT3=RIT4)*HT
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RIT2 ABS(RIT1=-HT)
IF(RIT2=06001)41941437
HT = 0e25%(3e*HT+RIT1)

GO TO 35
RIT3 = A1*RIC*¥RIC+A3
RIT1 = RIO=RIT3*RIC

RIT2 ABS(RIT1-RIC)
IF(RIT2-06001)45545443
RIC = 0e25%(3.%RIC+RIT1)

GO TO 41

RIT3 = A1*¥RIM*RIM

RIT4 = 0e75%A2%¥HC*HC+A3
RIT1 = RIO=(RIT3+RIT4)*RIM
RIT2 = ABS(RIT1-RIM)

PIC = Oo

27 (CONTINUED)
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